CAuery Fbill's Swedish Weaving, Book 2

Venice
EASY

The Vemce sample was stitched with Red Heart's dark sage, medium sage, light sage, and

buff on natural monk's cloth. The 13 rows in this pattern measure 7 3/4 inches. The design
repeats every 3 inches. Row 1 is designed to fit right into row 13. Or you can repeat the rows as
in the photograph. It is easier to stitch row 6, and then stitch rows 5 and 7 around row 6. The
picture is shown on the back cover.

Yarn lengths: Rows 5,6,7,9,10,11 -
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Rows 1,2,3,13 -

1 1/2 lengths plus 8 inches
2 lengths plus 8 inches
2 3/4 lengths plus 8 inches
3 lengths plus 8 inches

Rows 4,12 -

Row 8 -
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